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= Al 467,795 477,700 29,905
200 M2l +=¢ 10,500 377,700 A 367,200
210 & HAN 2= 500 5,700 A5,200
216 Ol Xt==¢ 500 5,700 25,200
216-01 33030l K== 100 500 2400
< OicHed HoHE D > 100 500 A 400

o 3303 0l 100,000& 100
216-02 X323l =0l Xt == 400 5,200 A 4,800
< DicHd ZOHE D > 400 5,200 A4,800

o JAEBN=2+ 0= 100,000& * 43 400
220 SAIHAN2 = 10,000 372,000 A 362,000
221 THAHOH 2 == 10,000 372,000 362,000
221-03 SR M= = 10,000 372,000 /362,000
< OicHed EOHE D > 10,000 372,000 A 362,000

o SSHEUNSSEHXN LU= &= 2,500,000& = 43 10,000
700 EMUSHUEIAH 457,295 100,000 357,295
710 B8+ S 457,295 100,000 357,295
711 A3 457,295 100,000 357,295
711-01 =MAHLAH=S 457,295 100,000 357,295
< DlHEHMHED > 457,295 100,000 357,295

o =AMALNS 457,295,000 457,295
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